Chapter 7: more Applications Using Systems (Word Problems)
This worksheet is not due – it is just to prepare you for the Chapter 6 and 7 exam.  More than half of your test will be word problems so make sure you are comfortable.

1.  At a local ‘paint swap,” Gayle found large supplies of Skylite Pink (12.5% red pigment) and MacIntosh Red (20% red pigment).  How many gallons of each color should be mixed in order to create a 10-gal batch of Summer Rose (17% red pigment)?  (example 4 on page 419 in the book)

a.) Create a table to arrange the information

b.) Write out your system of equations

c.) Solve and check your answer

2. A three-day “passport” to Disneyland cots $86 for adults and $65 for children.  An outing club with 23 members paid $1684 for their three-day passports.  How many children and how many adults are in the club?

a.) Write out your system of equations

b.) Solve and check your answer

3. Hertz rents cars for $39 a day plus 39¢ per mile.  Enterprise rents cars for $50 a day plus 20¢ per mile.  For what mileage is the cost the same?

a.) Write out your system of equations

b.) Solve and check your answer

c.) Graph your two equations

d.) Looking at your graph, when (if ever) will it be cheaper to rent from Enterprise?

4. Patrice has 108ft of fencing for a rectangular garden.  If the garden’s length is to be 1 ½ times its width, what should the garden’s dimensions be?

a.) Draw a picture

b.) Write out your system of equations

c.) Solve and check your answer

5. The difference between two numbers is -14.  Eleven times the smaller is 4 times the larger.  What are the numbers?
